1 Write if the sentences are True (T) or False (F).

a) Cavemen started fishing and trading during Stone Age.

b) Cities started growing where there were markets.

c) Cities became smaller because of the industrial revolution.

d) Four thousand people lived in Mohenjo-Daro 40,000 years ago.

e) London is smaller than New York.

f) The biggest city in the world is New York today.

2 Read and order the events. Number them from 1 to 6.

a) D London was the biggest city in the world.  d) Cavemen started farming.
b) D People started building cities. e) Tokyo is the biggest city in the world.
c) D New York was bigger than London. f) Rome was the most important city in the world.




